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1. Preethi M / BVB Chevayur, Calicut, Kerala.

2. Economics /Development. Lesson -1.

3 a. Income and other goals Pg 5
b. Understands the important goals -material and Non- material
c. Assertion - Reason

Qn 1..There are two statements marked as Assertion ( A) and Reason ( R) . Read the
statements and choose the correct option:
Assertion (A) In some cases things like equal treatment, freedom, security, respect for
others may be more important than more income or more consumption.
Reason (R) Material goods are not all that we need to live.
Options:

(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A
(c) A is true but R is false.
(d) A is false but R is true.

Ans - ( a)
—-------------------------------------------------------

3 a. Sustainability of Development Pg. 15
b. Identify the resources
c. Choose the correct answer from the
following options.

Qn 2. Groundwater is an example of —-------------- resource

(a) Actual
(b) Renewable
(c) Non- Renewable
(d) Human made

Ans - ( b)
__________________________

3a Human Development Report Pg 13
b. Analyse the importance of HDR.
c. Identification
Qn 3.Identify the correct statements about

HDR
(a) It stands for Human Development Report
(b) It is published by WHO.
(c) Its major indicators are education level, health status, and per capita income.
(d) It indicates the population growth of a country.

Options :
(A) a and b
(B) b and c
(C) a and c
(D) a and d

Ans - ( C )
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_________________________
3 a. Income and other criteria Pg 10
b. Analyse the national development in a vision of income and other criteria.
c. Assertion - Reason

Qn 4.There are two statements marked as Assertion ( A) and Reason ( R) . Read the
statements and choose the correct option:
Assertion (A) Bihar has a high Infant Mortality Rate.
Reason (R) It has adequate provision of basic health and educational facilities.
Options:

(a) Both A and R are true and R is the correct explanation of A.
(b)Both A and R are true but R is not the correct explanation of A
(c ) A is true but R is false.
(d ) A is false but R is true.

Ans - ( b)

___________________________
3a How to compare different countries or states ? Pg 8
b, Examine the importance of per capita income and compare the per capita income of
various countries.
c. Source Based.
Qn 5. Read the given extract and answer the questions that follow :

In World Development Reports, brought out by the World Bank , this criterion is used in
classifying countries. Countries with per capita oincome of US $ 49,300 per annum and
above in 2019 , are called high income or rich countries and those with per capita income of
US $2500 or less are called low income countries. India comes in the category of low middle
income countries because its per capita income in 2019 was just US $ 6700 per annum.
The rich countries , excluding countries of Middle East and certain other small countries, are
generally called developed countries

(1) What do you mean by per capita income ? ( 1)
(2) Suggest one measure to increase the per capita income of India (1 )
(3) How do we classify a country on the basis of Per Capita Income ? (2)

Ans (1) Per Capita Income is the total income of the country divided by its total population.
(2) The per capita income can be increased through investment in education, skill

infrastructure and training.

(3) Countries with per capita income of US $ 49,300 per annum and above in 2019 , are
called high income or rich countries and those with per capita income of US $2500 or less
are called low income countries.
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